

PAPER • OPEN ACCESS

A subclass Of spiral – like functions defined by generalized komatu operator with (R-K)integral operator

To cite this article: R H Buti and K A Jassim 2019 *IOP Conf. Ser.: Mater. Sci. Eng.* **571** 012040

View the [article online](#) for updates and enhancements.



IOP | ebooks™

Bringing you innovative digital publishing with leading voices to create your essential collection of books in STEM research.

Start exploring the collection - download the first chapter of every title for free.

A subclass of spiral-like functions defined by generalized komatu operator with (r-k)integral operator

¹ Buti R H and ² Jassim K A

¹Department of Mathematics and Computer Applications ,College of Sciences,
University of AlMuthanna ,Samawa- Iraq

²Department of Mathematics,College of Sciences ,University of Baghdad

E-mail ¹Rafidhbuti@yahoo.com, ²Kasimmathphd@gmail.com

Abstract : In this paper , we introduced a subclass of spiral – like functions defined by generalized Komotu operator with (R – K)integral operator with positive coefficients in the unit disk U . We obtain some new result of this class.

Mathematics Subject Classification: 30C40 .

Keywords : spiral – like functions, distortion bounded, growth bounded, Komotu operator,

(R – K)integral operator, Bernoulli polynomials .

1.Introduction :

Let KA denoted the class of functions defined by the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (a_n \geq 0, z \in U), \quad (1)$$

Which are analytic and univalent function . For $|J| \leq \frac{\pi}{2}$, a function f in the (1) is said in the class $S_{p,k}$ if and only if

$$\operatorname{Re} \left\{ e^{iJ} \frac{zf'(z)}{f(z)} \right\} > 0, \quad z \in U, \quad (2)$$

where U is unit disk defined by $U = \{z \in \mathbb{C} : |z| < 1\}$. The class $S_{p,k}$ is a class of all J - spiral – like functions.

Let the function $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$, $b_n \geq 0, z \in U$.The Hadamard product or convolution defined as following:



$$f(z) * g(z) = (f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \quad (3)$$

For $J = 0$, $S_{p,k}(0) = S$ is well – Known the class of functions starlike with respect to the origin . For $J \neq 0$, it is known that $S_{p,k}(J)$ is not contained in .

there are many of others studied of this object as Robertson [9] showed that the radius of starlikeness of $S_{p,k}(J)$ is $(\cos J + |\sin(J)|)^{-1}$, Spacek [10] and Zamerski [11].

Definition1. 1: The generalized integral operator of $f \in S_{p,k}$ is defined as following :

$$P_{\lambda,\alpha,\theta,k}^{\mu,\beta,\ell}(f(z)) = \frac{\theta k(\lambda - \beta + 2)^{\mu-\alpha+1}}{\ell^{\mu-\alpha+1} \Gamma(\lambda - \alpha + 1)} \int_0^1 \left[\log \frac{1}{\tau^\ell} \right]^{\mu-\alpha} f\left(\frac{z\tau}{\theta k}\right) d\tau, \quad (4)$$

where $\lambda - \alpha < 1, \ell > 0, \tau > 0, \theta > 0, k > 0$,

so from (4) , we have the following

$$P_{\lambda,\alpha,\theta,k}^{\mu,\beta,\ell}(f(z)) = z + \sum_{n=2}^{\infty} \left[\frac{\lambda - \beta + 2}{\lambda - \beta + n + 1} \right]^{\mu-\alpha+1} a_n z^n. \quad (5)$$

If $\beta = \alpha = \ell = \theta = k = 1$, we have the operator defined by Komatu operator [5] .

this type of function (spiral – like functions) is studied by many researchers such as M. Hussain [2] , K. I. Noor, Nazar Khan, M. A. Noor[8], K. I. Noor , Nazar Khan and Q. Z. Ahamd [7], K. I. Noor and S. Z. Bukhari[6] And gave good results used in other research.

In the following we introduced integral operator studied by R.H Buti and K.A. Jassim denoted by (R – K) integral operator .

Definition 1.2: The integral operator (R – K) involving Euler formula $e^{iA} = (\cos A + i \sin A)$ is defined by :

$$\begin{aligned} [R - K]_q^{A,r,c}(g(z)) &= \frac{r}{q} e^{-iA} \int_0^1 \tau^{r+1+c} g\left(\frac{qz e^{iA} \tau^c}{\tau^c}\right) d\tau \\ &= z + \sum_{n=2}^{\infty} \Psi(A, n, c, r) b_n z^n, \end{aligned} \quad (6)$$

$$\text{And } \Psi(A, n, c, r) = \frac{q^{n-1} e^{iA(n-1)}}{r(r - c(n-1))}, \quad r > c(n-1), c > 0. \quad (7)$$

So, from (5) and (6) we have the hadamard product or convolution defined by the following :

$$\begin{aligned} [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z)) &= P_{\lambda, \alpha, \theta, k}^{\mu, \beta, \ell}(f(z)) * [R - K]_q^{A, r, c}(g(z)) \\ &= z + \sum_{n=2}^{\infty} D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n, \end{aligned} \quad (8)$$

$$\text{where } D(A, n, c, r, \lambda, \beta, \mu, \alpha) = \left[\frac{\lambda - \beta + 2}{\lambda - \beta + n + 1} \right]^{\mu - \alpha + 1} * \Psi(A, n, c, r). \quad (9)$$

Definition 1.3: A function f defined by (1) be in the $S_{p, k}(J)$ is said in the class

$KAS_p(A, n, c, r, \lambda, \beta, \mu, \alpha, \theta, k, \gamma, b, \eta, J, q) = MR_p$ if satisfies the condition

$$\begin{aligned} & \left| (1-b) \left[\frac{z [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))}{[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))} - 1 \right] \right. \\ & \left. 2\eta \left[\frac{z [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))}{[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))} - \left(1 - (1-\gamma)e^{-iJ} \frac{\cos J}{\cos b} \right) \right] \right| \\ & \times \frac{1}{\left[\frac{z [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))}{[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))} - 1 \right] - bz^2 [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r}(f(z) * g(z))''} } < 1, \quad (10) \end{aligned}$$

and $0 \leq \gamma < 1$, $0 < \eta \leq 1$, $|J| \leq \frac{\pi}{2}$, $\lambda > \beta + n + 1$, $0 \leq b < 1$.

The class $KAS_p(0, n, 0, 1, \lambda, 1, \mu, 1, 1, 1, \gamma, 0, \eta, J, 1)$ is studied by [1].

In the following theorem, we obtain a necessarily and sufficient condition for the class belongs to the class MR_p .

Theorem 1.4 : A function defined by (1) be in the class MR_p if and only if

$$\sum_{n=2}^{\infty} \left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-ij} \frac{\cos J}{\cos b} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n \leq \eta(1-\gamma) \left| e^{-ij} \frac{\cos J}{\cos b} \right| \quad (11)$$

Proof: let $|z|=1$. Then

$$\begin{aligned} & \left| (1-b) \left[z \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right] - [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right] - \right. \\ & \left. 2\eta \left[z \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right] - \left(1 - (1-\gamma) e^{-ij} \frac{\cos J}{\cos b} \right) [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right] - \right. \\ & \left. z \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right] - [RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) - bz^2 \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right] \right] \right| \\ &= \left| \sum_{n=2}^{\infty} (1-b)(n-1) D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n - \right. \\ & \left. \left| 2\eta z (1-\gamma) e^{-ij} \frac{\cos J}{\cos u} - \sum_{n=2}^{\infty} [(n-1)(1-2\eta+nb) - 2\eta z (1-\gamma) e^{-ij} \frac{\cos J}{\cos u}] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n \right| \right| \\ &\leq \sum_{n=2}^{\infty} (1-b)(n-1) D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n - 2\eta(1-\gamma) \left| e^{-ij} \frac{\cos J}{\cos u} \right| + \\ & \sum_{n=2}^{\infty} [(n-1)(1-2\eta+nb) - 2\eta z (1-\gamma) \left| e^{-ij} \frac{\cos J}{\cos u} \right|] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n \\ &= \sum_{n=2}^{\infty} \left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-ij} \frac{\cos J}{\cos b} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n - \eta(1-\gamma) \left| e^{-ij} \frac{\cos J}{\cos b} \right| \leq 0. \end{aligned}$$

Thus by maximum modulus theorem we have the function belong to the class.

Conversely , let

$$\begin{aligned}
 & \left| \frac{(1-b) \left[\frac{z \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right]}{[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z))} - 1 \right]}{2\eta \left[\frac{z \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right]}{[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z))} - \left(1 - (1-\gamma)e^{-iJ} \frac{\cos J}{\cos b} \right) \right]} \right| \\
 & \times \frac{1}{\left| - \left[\frac{z \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right]}{[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z))} - 1 \right] - bz^2 \left[[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z)) \right]' \right|} < 1, \\
 & = \left| \frac{\sum_{n=2}^{\infty} (1-b)(n-1)D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n}{2\eta z(1-\gamma)e^{-iJ} \frac{\cos J}{\cos u} - \sum_{n=2}^{\infty} [(n-1)(1-2\eta+nb) - 2\eta z(1-\gamma)e^{-iJ} \frac{\cos J}{\cos u}] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n} \right|
 \end{aligned}$$

Since $|\operatorname{Re}(z)| \leq |z|$ for all z , we have

$$\operatorname{Re} \left\{ \frac{\sum_{n=2}^{\infty} (1-b)(n-1)D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n}{2\eta z(1-\gamma)e^{-iJ} \frac{\cos J}{\cos u} - \sum_{n=2}^{\infty} [(n-1)(1-2\eta+nb) - 2\eta z(1-\gamma)e^{-iJ} \frac{\cos J}{\cos u}] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n z^n} \right\} < 1$$

We can choose z on the real axis so that $[RKA]_{\lambda, \alpha, \theta, k, c}^{\mu, \beta, \ell, A, r} (f(z) * g(z))$ is real . Let $z \rightarrow 1$ through real value , so we get

$$\sum_{n=2}^{\infty} \left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n \leq \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| .$$

Corollary 1.5 : Let $f \in MR_p$, then

$$a_n \leq \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) b_n} .$$

Now, we application the (H-R) fractional calculus introduced by [3].

Definition 1.6: The fractional integral of order $s (s = 0, 1, 2, \dots)$ if defined by

$${}_z^{-s} Df(z) = \frac{1}{\Gamma(2(s+1))} \int_0^z (z-u)^{2s+1} f(u) du . \quad (12)$$

Where $f(z)$ is analytic function in simply connected region of z -plane containing the origin and the multiplicity of $(z-u)^{2s+1}$ is removed by required $\log(z-u)$ to be real when $(z-u) > 0$.

Definition 1.7: The fractional derivative of order $s (s = 2, 3, \dots)$ if defined by

$${}_z^s Df(z) = \frac{1}{\Gamma(s-1)} \frac{d}{dz} \int_0^z (z-u)^{s-1} f(u) du . \quad (13)$$

Where $f(z)$ is analytic function in simply connected region of z -plane containing the origin and the multiplicity of $(z-u)^{2s+1}$ is removed by required $\log(z-u)$ to be real when $(z-u) > 0$.

Definition 1.8: From above Definition, we have the following functions $G(z)$ and $H(z)$ defined as following :

$$\begin{aligned} G(z) &= z^{2(s+1)} \Gamma(2+2(s+1)) {}_z^{-s} Df(z) \\ &= z + \sum_{n=2}^{\infty} \frac{n! \Gamma(2+2(s+1))}{\Gamma(n-1+2(s+1))} a_n z^n . \end{aligned} \quad (14)$$

And

$$\begin{aligned} H(z) &= z^{2-z} \Gamma(s) {}_z^s Df(z) \\ &= z + \sum_{n=2}^{\infty} \frac{n! \Gamma(s)}{\Gamma(n+s-1)} a_n z^n . \end{aligned} \quad (15)$$

In the next theorem we discuss the distortion theorem for the class MR_p .

Theorem 1.9: Let $f(z)$ defined by (1) be in the class MR_p , then

$$|G(z)| \leq |z| + \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] (2+s) D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}$$

And

$$|G(z)| \geq |z| - \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] (2+s) D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}.$$

Proof : From Theorem 1.4 , we have

$$\sum_{n=2}^{\infty} a_n \leq \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}, \quad (16)$$

So , from Definition 1.8 , we have

$$\begin{aligned} G(z) &= z + \sum_{n=2}^{\infty} \frac{n! \Gamma(2+2(s+1))}{\Gamma(n-1+2(s+1))} a_n z^n \\ &= z + \sum_{n=2}^{\infty} \Phi(n.s) a_n z^n, \end{aligned} \quad (17)$$

$$\text{where } \Phi(n.s) = \frac{n! \Gamma(2+2(s+1))}{\Gamma(n-1+2(s+1))}.$$

We see that $\Phi(n.s)$ is a decreasing function of n and

$$0 < \Phi(n.s) < \Phi(2.s) = \frac{1}{2+s}.$$

So by using (11) and (12) , we have

$$|G(z)| \leq |z| + \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] (2+s) D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}$$

And

$$|G(z)| \geq |z| - \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] (2+s) D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}.$$

Theorem 1.10: Let $f(z)$ defined by (1) be in the class MR_p . Then

$$|H(z)| \leq |z| + \frac{2\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] s D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}$$

And

$$|H(z)| \geq |z| - \frac{2\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] s D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}.$$

Proof : From Theorem 1.4 , we have

$$\sum_{n=2}^{\infty} a_n \leq \frac{\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2},$$

So , from Definition 1.8 , we have

$$H(z) = z^{2-z} \Gamma(s) {}_z^s D f(z)$$

$$= z + \sum_{n=2}^{\infty} \frac{n! \Gamma(s)}{\Gamma(n+s-1)} a_n z^n, \quad (18)$$

$$\text{Where } R(n.s) = \frac{n! \Gamma(s)}{\Gamma(n+s-1)}.$$

We see that $R(n.s)$ is a decreasing function of n and

$$0 < R(n.s) < R(n.s) = \frac{2}{s}.$$

So by using (11) and (13), we have

$$|H(z)| \leq |z| + \frac{2\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] sD(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}$$

And

$$|H(z)| \geq |z| - \frac{2\eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right|}{\left[\left[(1-\eta) + \frac{b}{2} \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] sD(A, 2, c, r, \lambda, \beta, \mu, \alpha) b_2}.$$

The proof is complete .

2. Some application on ((Bernoulli polynomial))

Definition 2.1 [4] : The Bernoulli numbers are defined by the relation

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}, \quad (19)$$

Such that $B_n(x) (n = 0, 1, \dots)$ is called Bernoulli polynomials and defined as following

$$B_n(x) = \sum_{k=0}^{\infty} C_n^k B_k x^{n-k} (B+x)^n, (B^k = B_k)$$

$$\text{Such that } B_n(1) = \sum_{k=0}^{\infty} C_n^k B_k (B+1)^n, (B^k = B_k)$$

And so , we have

$$B_0(x) = 1$$

$$B_1(x) = x - \frac{1}{2}$$

$$B_2(x) = x^2 - x + \frac{1}{6}$$

3. Definition the Bernoulli polynomials by the generator function:

The Bernoulli polynomials defined by the generator function as following :

$$G(t, x) = \frac{te^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} \frac{B_n(x)t^n}{n!}, \quad (20)$$

Such that ,

$$G(t, 0) = \frac{t}{e^t - 1} = \sum_{n=0}^{\infty} \frac{B_n(0)t^n}{n!}, \quad (B_n(0) = B_n) \quad (21)$$

Now, we defined $G(z, x)$ by the form :

$$G(z, x) = \frac{ze^{xz}}{e^z - 1} = \sum_{n=0}^{\infty} \frac{B_n(x)z^n}{n!}. \quad (22)$$

So, from (16) , we get

$$\begin{aligned} G(z, x) &= B_0(x) + B_1(x) \frac{z}{1!} + \sum_{n=2}^{\infty} \frac{B_n(x)z^n}{n!} \\ &= 1 + z\left(x - \frac{1}{2}\right) + \sum_{n=2}^{\infty} \frac{B_n(x)z^n}{n!} \end{aligned}$$

Now, let the function $K(z, x)$ defined as following:

$$\begin{aligned} K(z, x) &= \frac{3}{2}z - (1 + zx) + G(z, x) \\ &= z + \sum_{n=2}^{\infty} \frac{B_n(x)z^n}{n!}, \end{aligned} \quad (23)$$

So, the hadamard product of (18) and (1) is defined as following :

$$\begin{aligned}\Lambda(z, x) &= f(z) * K(z, x) \\ &= z + \sum_{n=2}^{\infty} \frac{B_n(x)}{n!} a_n z^n .\end{aligned}\quad (24)$$

In the next theorem we show that the function defined by (23) be in the class MR_p

Theorem 3.1: The function defined by (19) be in the class MR_p , where $x = 0$.

Proof : If $x = 0$, we have from (19) the next function :

$$\Lambda(z, 0) = z + \sum_{n=0}^{\infty} \frac{B_n(0)}{n!} a_n z^n .\quad (25)$$

Then , we must to show that

$$\begin{aligned}&\sum_{n=2}^{\infty} \left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) \frac{B_n(0)}{n!} a_n b_n \\ &\leq \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| .\end{aligned}$$

So,

$$\begin{aligned}&\sum_{n=2}^{\infty} \left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) \frac{B_n(0)}{n!} a_n b_n \\ &\leq \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| .\end{aligned}$$

since $\frac{B_n(0)}{n!} \leq 1$, for all $n \geq 2$, we have

$$\leq \sum_{n=2}^{\infty} \left[(n-1) \left[(1-\eta) + \frac{b}{2}(n-1) \right] + \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| \right] D(A, n, c, r, \lambda, \beta, \mu, \alpha) a_n b_n \leq \eta(1-\gamma) \left| e^{-iJ} \frac{\cos J}{\cos u} \right| .$$

Then the function $\Lambda(z, 0)$ is in the class MR_p .

The proof is complete .

REFERENCES

- [1] Atshan W G (2008), , *Fractional Calculus on a Subclass of Spiral-Like Functions Defined by Komatu Operator*, Int. Math. Forum, 3, no. 32, , 1587 – 1594.
- [2] Hussain M (2018), *Application of the Srivastav-Owa Fractional Calculus Operator to Janowski Spiral-like Functions of Complex Order*, Journal of Mathematics (ISSN 1016-2526) Vol. 50(2) pp. 33-43.
- [3] Abdul Hussein H J and Buti R H(2012), *On $((H - R))$ Fractional Calculus*, Int.Math. Forum, Vol. 7, no. 45, 2211 – 2217.
- [4] Feng Q and Guo B (2016), *Some Determinantal Expressions and Recurrence Relations of the Bernoulli Polynomials*, mathematics, ,1-11.
- [5] Komatu Y(1990), *On analytic prolongation of a family of integral operators*, Mathematica (Cluj), 32 (55), 141-145.
- [6] Noor K I and Bukhari S Z (2010) , *Some subclasses of analytic and spiral-like functions of complex order involving the Srivastava-Attiya integral operators*, Integral Transform. Speci. Funct. 2(1), 907-916.
- [7] Noor K I , Khan N and Ahamd Q Z(2018), *Some properties of multivalent spiral-like functions,, Some properties of multivalent spiral-like functions*, Maejo Int. J. Sci. Technol., 12(02), 139-151.
- [8] Noor K I, Khan N, Noor M A(2014),*On Generalized Spiral-like Analytic Functions*, Filomat 28:7, 1493–1503.
- [9] Robertson M S(1965), *Radii of starlikeness and close-to-convexity*, Proc. Amer. Math. Soc. 16, 847-852.
- [10] Spáček L (1932), *Contribution a la th'éorie des fonctions univalentes*, Časopis pěst. Mat. 62, 12-19.
- [11] Zamorski J (1962), *About the extremal spiral schlicht functions*, Ann. Polon. Math. 9, 265-273.